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  Reazioni	
  vincolari	
  
La	
  reazione	
  vincolare	
  R	
  è	
  una	
  forza	
  che	
  i	
  “vincoli”	
  (tavolino)	
  esercitano	
  
su	
  corpi	
  con	
  i	
  quali	
  sono	
  in	
  conta"o	
  (boEglia	
  sul	
  tavolino).	
  
	
  
à Sono	
  quindi	
  forze	
  di	
  “reazione”	
  che	
  si	
  oppongono	
  alle	
  forze	
  	
  	
  	
  	
  	
  

	
  applicate	
  dal	
  corpo	
  sul	
  vincolo	
  stesso	
  

à Sono	
  forze	
  sempre	
  perpendicolari	
  al	
  vincolo	
  e	
  tali	
  che:	
  
	
  
	
  
	
  

R
!"
= F
!"
iN

i
∑   

dove F
!"
iN = componenti delle forze attive perpendicolari al vincolo

→	
  
R	
  

Fp	
  Fp	
  

R	
   Ricorda:	
  il	
  
grasse"o	
  indica	
  

un	
  ve"ore	
  



	
  A"ri1	
  
L’a"rito	
  è	
  una	
  forza	
  che	
  si	
  oppone	
  al	
  movimento	
  di	
  due	
  corpi	
  in	
  
conta"o	
  tramite	
  una	
  superficie	
  S.	
  
	
  

ADrito	
  dinamico	
  radente:	
  	
  
Si	
  sviluppa	
  sulla	
  superficie	
  S	
  quando	
  i	
  due	
  corpi	
  strisciano	
  tra	
  loro	
  
tramite	
  la	
  superficie	
  S	
  (sono	
  quindi	
  in	
  movimento	
  rela1vo	
  tra	
  loro)	
  	
  

f
!"
r = µr F

!" tot
⊥

Componente	
  perpendicolare	
  al	
  piano	
  di	
  appoggio	
  
della	
  risultante	
  delle	
  forze	
  che	
  agiscono	
  sul	
  corpo	
  

µr	
  :	
  coeff.	
  a"rito	
  radente	
  

Se	
  il	
  corpo	
  rotola	
  sulla	
  superficie:	
  si	
  parla	
  di	
  aDrito	
  dinamico	
  volvente	
  

An#cipo:	
  l’effe'o	
  dell’a'rito	
  è	
  quello	
  di	
  trasformare	
  in	
  un	
  sistema	
  l’energia	
  cine7ca	
  in	
  energia	
  
interna	
  e	
  l’aumento	
  dell’energia	
  interna	
  è	
  uguale	
  alla	
  diminuzione	
  di	
  energia	
  cine7ca	
  



	
  A"ri1	
  
ADrito	
  staNco:	
  	
  
La	
  forza	
  di	
  a"rito	
  sta1co	
  è	
  la	
  forza	
  minima	
  necessaria	
  che	
  deve	
  essere	
  
applicata	
  parallelamente	
  alla	
  superficie	
  S	
  di	
  conta"o	
  tra	
  due	
  corpi	
  in	
  
quiete	
  rela1va	
  tra	
  loro	
  per	
  far	
  scivolare	
  uno	
  dei	
  due	
  corpi.	
  

fs = µsFN
tot

Il	
   modulo	
   della	
   forza	
   di	
   a"rito	
   sta1co	
   è	
  
proporzionale	
   alla	
   componente	
   normale	
   alla	
  
superficie	
   S	
   delle	
   forze	
   aEve	
   tramite	
   un	
  
coefficiente	
  di	
  mol1plicazione	
  de"o	
  
coeff.	
  di	
  a"rito	
  sta1co	
  µs	
  

FN
tot = F1 sin(β)+Fpeso = F1 sin(β)+mg

fs = µsFN
tot = µsF1 sin(β)+ µsmg

se fs = F1 cos(β) il corpo 2 non si muove
F1 cos(β) = µs F1 sin(β)+mg[ ]
F1 cos(β) ≈ µs F1 sin(β)+mg[ ]  il corpo inizia a muoversi

In	
  modulo:	
  

L’a"rito	
  è	
  una	
  forza	
  che	
  si	
  oppone	
  al	
  movimento	
  di	
  due	
  
corpi	
  in	
  conta"o	
  tramite	
  una	
  superficie	
  S	
  

Nell’istante	
  in	
  cui	
  le	
  due	
  
forze	
  sono	
  uguali	
  o	
  fs	
  è	
  
poco	
  <	
  della	
  componente	
  
orizzontale	
  della	
  forza	
  F1	
  

→	
  
RNtot	
  

→	
  
F1	
  

ß	
  

F1cos(ß)	
  

fs	
  

FNtot	
  
→	
  



Sperimentalmente	
  si	
  trova:	
  	
  µs	
  	
  >	
  µd	
  
	
  

kinetic friction . The net force F ! fk in the x direction produces an acceleration
to the right, according to Newton’s second law. If we reduce the magnitude of so
that F " fk, the acceleration is zero and the trash can moves to the right with con-
stant speed. If the applied force is removed, the friction force acting to the left pro-
vides an acceleration of the trash can in the !x direction and eventually brings it to
rest.

Experimentally, one finds that, to a good approximation, both fs,max and fk for
an object on a surface are proportional to the normal force exerted by the surface
on the object; thus, we adopt a simplification model in which this approximation is
assumed to be exact. The assumptions in this simplification model can be summa-
rized as follows:

• The magnitude of the force of static friction between any two surfaces in contact
can have the values

[5.1]

where the dimensionless constant #s is called the coefficient of static friction and
n is the magnitude of the normal force. The equality in Equation 5.1 holds when
the surfaces are on the verge of slipping, that is, when fs " fs,max ! #sn. This situa-
tion is called impending motion. The inequality holds when the component of the
applied force parallel to the surfaces is less than this value.

• The magnitude of the force of kinetic friction acting between two surfaces is 

[5.2]

where #k is the coefficient of kinetic friction. In our simplification model, this
coefficient is independent of the relative speed of the surfaces.

• The values of #k and #s depend on the nature of the surfaces, but #k is generally
less than #s. Table 5.1 lists some measured values.

• The direction of the friction force on an object is opposite to the actual motion
(kinetic friction) or the impending motion (static friction) of the object relative
to the surface with which it is in contact.

The approximate nature of Equations 5.1 and 5.2 is easily demonstrated by try-
ing to arrange for an object to slide down an incline at constant speed. Especially at
low speeds, the motion is likely to be characterized by alternate stick and slip
episodes. The simplification model described in the bulleted list above has been de-
veloped so that we can solve problems involving friction in a relatively straightfor-
ward way.

fk " #kn

fs $ #sn

F
:

f
:

k

FORCES OF FRICTION ❚ 127

Coefficients of FrictionTABLE 5.1
!s !k

Steel on steel 0.74 0.57
Aluminum on steel 0.61 0.47
Copper on steel 0.53 0.36
Rubber on concrete 1.0 0.8
Wood on wood 0.25–0.5 0.2
Glass on glass 0.94 0.4
Waxed wood on wet snow 0.14 0.1
Waxed wood on dry snow — 0.04
Metal on metal (lubricated) 0.15 0.06
Ice on ice 0.1 0.03
Teflon on Teflon 0.04 0.04
Synovial joints in humans 0.01 0.003

Note: All values are approximate.

■ Force of static friction

■ Force of kinetic friction

THE EQUAL SIGN IS USED IN LIMITED

SITUATIONS In Equation 5.1, the
equal sign is used only when the
surfaces are just about to break 
free and begin sliding. Do not fall
into the common trap of using 
fs " #sn in any static situation.

! PITFALL PREVENTION 5.1

THE DIRECTION OF THE FRICTION

FORCE Sometimes, an incorrect
statement about the friction force
between an object and a surface is
made—“The friction force on an
object is opposite to its motion or
impending motion”—rather than
the correct phrasing, “The friction
force on an object is opposite to its
motion or impending motion rela-
tive to the surface.” Think carefully
about Quick Quiz 5.2.

! PITFALL PREVENTION 5.2

µs	
   µd	
  



	
  Lavoro	
  
Se	
  delle	
  forze	
  agiscono	
  su	
  un	
  sistema	
  si	
  sviluppa	
  una	
  grandezza	
  fisica	
  

chiamata	
  “Lavoro”.	
  	
  

L = F
!"
⋅ s
"
= Fscos(β)Def:	
  	
   Quan1tà	
  scalare	
  (prodo"o	
  scalare)	
  	
  

[L]	
  =[MLT-­‐2]	
  [L]	
  =	
  [ML2T-­‐2]	
  à	
  nel	
  S.I.	
  :	
  J	
  (joule)	
  =	
  newton	
  metro	
  (Nm)	
  

Il	
  lavoro	
  provoca	
  sempre	
  una	
  variazione	
  di	
  energiaà	
  [J]	
  (Joule)	
  

Prodo"o	
  della	
  proiezione	
  della	
  forza	
  
nella	
   direzione	
   dello	
   spostamento	
  
mol1plicata	
   per	
   lo	
   spostamento	
  
stesso.	
   (spostamento	
   del	
   punto	
   di	
  
applicazione	
  della	
  forza)	
  

In	
  questo	
  caso	
  il	
  sistema	
  è	
  dato	
  solo	
  	
  
dal	
  corpo	
  A	
  che	
  viene	
  spostato	
  dalla	
  
posizione	
  P1	
  alla	
   P2	
   a	
   causa	
  di	
   una	
  
forza	
  F	
  esterna	
  al	
  sistema.	
  

F	
  

s	
  

ß	
  

Fcos(ß)	
  	
  

→	
  

→	
  

∆s	
  

P1	
   P2	
  

s	
  



	
  Lavoro	
  
L = F
!"
⋅ s
"
= Fscos(β)Def:	
  	
  

L=0	
  se:	
  
•  |F|=0	
  
•  |s|=0	
  
•  F	
  ⊥s	
  	
  (cos(ß)=0)	
  

L>0	
  se:	
  Fx	
  stesso	
  verso	
  di	
  s	
  
L<0	
  se:	
  Fx	
  verso	
  contrario	
  s	
  

F	
  

s	
  

ß	
  

Fcos(ß)	
  	
  

→	
  

→	
  

∆s	
  

P1	
   P2	
  

In	
   questo	
   caso	
   il	
   sistema	
   è	
   dato	
   solo	
   dal	
   corpo	
   A	
   che	
   viene	
   spostato	
   dalla	
  
posizione	
  P1	
  alla	
  P2.	
  
	
  La	
  forza	
  che	
  si	
  applica	
  sul	
  corpo	
  A	
  è	
  una	
  forza	
  esterna	
  al	
  sistema	
  



	
  Forze	
  conserva1ve	
  
Una	
  forza	
  è	
  una	
  forza	
  conserva#va	
  se	
  il	
  lavoro	
  compiuto	
  da	
  tale	
  forza	
  
tra	
   il	
   punto	
   A	
   e	
   punto	
   B	
   non	
   dipende	
   dal	
   percorso	
   ma	
   solo	
   dalla	
  
posizione	
  iniziale	
  e	
  finale;	
  quindi	
  se	
  A	
  coincide	
  con	
  B	
  il	
  lavoro	
  è	
  nullo	
  

A(xB,yB,zB)	
  	
  

B	
  (xB,yB,zB)	
  

1.   LA-­‐>B	
  =	
  LA-­‐>B	
  =	
  LA-­‐>B	
  	
  
2.   LA-­‐>B+LB-­‐>A=0	
  	
  à	
  	
  il	
  lavoro	
  lungo	
  una	
  linea	
  chiusa	
  =	
  0	
  
3.   à	
  LA-­‐>B	
  =	
  f(A,B)	
  	
  è	
  funzione	
  solo	
  dei	
  punN	
  A	
  e	
  B	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  A-­‐>	
  xA,yA,zA	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  B-­‐>	
  xB,yB,zB	
  

x	
  

y	
  

z	
  

Dipendenza	
  solo	
  dalle	
  coordinate	
  spaziali	
  e	
  
non	
  dal	
  percorso	
  	
  



	
  Forze	
  conserva1ve	
  -­‐	
  Energia	
  Potenziale	
  

A(xB,yB,zB)	
  	
  

B	
  (xB,yB,zB)	
   x	
  

y	
  

z	
  

à	
  LA-­‐>B	
  =	
  f(A,B)	
  	
  è	
  funzione	
  solo	
  dei	
  punN	
  A	
  e	
  B	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  A-­‐>	
  xA,yA,zA	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  B-­‐>	
  xB,yB,zB	
  

Dipendenza	
  solo	
  dalle	
  coordinate	
  spaziali	
  

LA-­‐>B	
  =	
  f(B)	
  -­‐	
  f(A)	
  =	
  -­‐[	
  U(B)	
  -­‐	
  U(A)	
  ]	
  =	
  -­‐∆U	
  
U	
  =	
  U(x,y,z)	
  	
  energia	
  potenziale	
  

-­‐>	
  il	
  lavoro	
  di	
  una	
  forza	
  conserva#va	
  dipende	
  solo	
  dai	
  
valori	
   dell’energia	
   potenziale	
   nel	
   punto	
   iniziale	
   e	
  
finale	
  dello	
  spostamento	
  



	
  Energia	
  

Capacità	
  potenziale	
  di	
  compiere	
  lavoro	
  meccanico	
  

Forme	
  di	
  Energia:	
  
•  Cine1ca	
  
•  Potenziale	
  (gravità,	
  elas1ca,	
  ele"rica)	
  
•  Termica	
  (calore)	
  
•  Nucleare	
  
•  …	
  

L’energia	
  non	
  si	
  crea	
  ne	
  si	
  distrugge;	
  
	
  si	
  trasforma	
  

Dimensioni:	
  joule	
  	
  
à	
  stesse	
  unità	
  di	
  misura	
  del	
  lavoro	
  



	
  Energia	
  

Etot = costante
ΔEtot = 0   (sistema isolato)

è	
  Principio	
  di	
  conservazione	
  dell’energia:	
  

L’energia	
  non	
  si	
  crea	
  ne	
  si	
  distrugge;	
  
	
  si	
  trasforma	
  

Un	
  sistema	
  è	
  isolato	
  se	
  non	
  c’è	
  interazione	
  con	
  l’ambiente	
  che	
  lo	
  circonda	
  
e	
  cioè	
  non	
  c’è	
  scambio	
  di	
  energia,	
  massa	
  	
  



	
  Energia	
  Cine1ca	
  

K =
1
2
mV 2

Def:	
  Energia	
  Cine#ca	
  K	
  

Esempio:	
   	
   	
   	
  macchina	
  m=800kg,	
  V=50Km/H	
  	
  
à	
  K=0.5·∙800·∙(50·∙1000/3600)2	
  ~	
  77200	
  (J)=77.2	
  kJ	
  	
  

L12	
  =	
  ∆K	
  =	
  K2	
  -­‐	
  K1	
  
Quando	
  il	
  lavoro	
  compiuto	
  dall’insieme	
  delle	
  forze	
  agen1	
  su	
  un	
  sistema	
  

ha	
  come	
  conseguenza	
  la	
  sola	
  variazione	
  della	
  velocità	
  del	
  sistema	
  
allora	
  

	
  il	
  lavoro	
  compiuto	
  dalla	
  forza	
  risultante	
  sul	
  sistema	
  
	
  è	
  uguale	
  alla	
  variazione	
  di	
  energia	
  cine1ca	
  del	
  sistema	
  



	
  Energia	
  Cine1ca	
  

L12	
  =	
  ∆K	
  =	
  K2	
  -­‐	
  K1	
  

Se	
  L	
  <0	
  :	
  	
  	
  velocità	
  finale	
  <	
  velocità	
  iniziale	
  
	
   	
  	
  	
  	
  	
  	
  à	
  energia	
  trasferita	
  dal	
  sistema	
  all’ambiente	
  	
  	
  

	
  

Nota:	
  	
  
il	
  teorema	
  dell’energia	
  cine1ca	
  fa	
  riferimento	
  soltanto	
  	
  	
  
alla	
  velocità	
  iniziale	
  e	
  finale	
  cioè	
  non	
  dipende	
  dal	
  percorso	
  

Se	
  L	
  >0	
  :	
  	
  	
  velocità	
  finale	
  >	
  velocità	
  iniziale	
  
	
   	
  	
  	
  	
  	
  	
  à	
  energia	
  trasferita	
  dall’ambiente	
  al	
  sistema	
  

	
  

Quindi	
  il	
  lavoro	
  trasferisce	
  energia	
  tra	
  il	
  sistema	
  e	
  l’ambiente	
  
	
  



	
  Equazione	
  con1nuità	
  energia	
  –	
  sistema	
  non	
  isolato	
  

	
  ∆K	
  +	
  ∆Eint	
  =	
  ∑	
  contribu#	
  di	
  energia	
  trasferita	
  
sodo	
  altre	
  forme	
  

Lavoro,	
  Calore,	
  Trasferimento	
  di	
  materia,	
  
onde	
  EM,	
  onde	
  acus1che..	
  

Energia	
  
associata	
  alla	
  
temperatura	
  di	
  
un	
  ogge"o	
  
“A'rito”	
  



	
  Energia	
  Potenziale	
  –	
  sistema	
  non	
  isolato	
  
Sistema	
  formato	
  dalla	
  	
  Terra	
  e	
  Libro	
  in	
  interazione	
  tramite	
  forza	
  gravitazionale	
  

1.  Solleviamo	
   il	
   libro	
   di	
   una	
   quan1tà	
   ∆y	
   e	
  
quindi	
  compiamo	
  lavoro	
  sul	
  sistema	
  

2.  Alla	
   posizione	
   iniziale	
   e	
   finale	
   il	
   libro	
   ha	
  
velocità	
  =	
  0	
  à	
  ∆K=0	
  

3.  Non	
   c’è	
   mo1vo	
   che	
   si	
   sia	
   scaldato	
   quindi	
  
Einterna=0	
  

Per	
  l’equazione	
  di	
  con1nuità	
  l’energia	
  del	
  sistema	
  è	
  aumentata	
  ma	
  so"o	
  che	
  forma	
  è	
  
stata	
  immagazzinata?	
  
	
  
Se	
  il	
  libro	
  si	
  lascia	
  cadere,	
  avrà	
  una	
  Kfinale	
  che	
  ha	
  origine	
  dal	
  lavoro	
  compiuto	
  per	
  
sollevare	
  il	
  libro.	
  	
  
	
  
àMentre	
  il	
  libro	
  era	
  nel	
  punto	
  più	
  alto,	
  l’energia	
  del	
  sistema	
  aveva	
  la	
  “potenziale”	
  
capacità	
  di	
  diventare	
  energia	
  cine1ca	
  
	
  

à immagazzinamento	
  dell’energia:	
  Energia	
  Potenziale	
  
à Energia	
  potenziale	
  è	
  interna	
  al	
  sistema	
  Terra-­‐Libro	
  

terra	
  

libro	
  

libro	
  

yb	
  
ya	
  

∆s	
  

mg	
  

mg	
  



	
  Energia	
  potenziale	
  –	
  sistema	
  non	
  isolato	
  
Sistema	
  formato	
  dalla	
  	
  Terra	
  e	
  Libro	
  in	
  interazione	
  tramite	
  forza	
  gravitazionale;	
  

Ricaviamo	
  l’espressione	
  per	
  l’energia	
  potenziale	
  

Solleviamo	
  lentamente	
  il	
  libro	
  di	
  una	
  quan1tà	
  ∆y	
  
e	
  quindi	
  compiamo	
  lavoro	
  sul	
  sistema.	
  	
  

terra	
  

libro	
  

libro	
  

yb	
  
ya	
  

∆s	
  

mg	
  

mg	
  

Lab =mg ⋅ Δs =mgyb −mgya
U ≡mgy def: energia potenziale gravitazionale
Lab = ΔU Il	
   lavoro	
   svolto	
   sul	
   sistema	
   diventa	
   una	
   variazione	
   di	
   energia	
  

potenziale	
  gravitazionale	
  del	
  sistema	
  

Energia	
  potenziale	
  gravitazionale	
  
Def:	
  U=	
  mg·∙y	
  dipende	
  solo	
  dall’altezza	
  (posizione)	
  

Il	
   sistema	
   non	
   è	
   isolato	
   perché	
   c’è	
   una	
   forza	
  
esterna	
  che	
  sposta	
  il	
  libro	
  



Energia	
  Potenziale	
  –	
  sistema	
  isolato	
  

F
!"

p =mg
"

L = F
!"

p ⋅ y
"
= −mg(ya − yb ) =mgyb −mgya = −[U(2)−U(1)]= −∆U

Si prende y2 =0 -> U(2)=0  sulla sup. terrestre quindi
U(1) =mgy1   dove y1  è quindi l'altezza dalla sup. terrestre

Spostamento:	
  ya-­‐yb=∆y	
  
	
  à	
  prendendo	
  ya=0,	
  ∆y=y2-­‐>altezza	
  	
  

1)	
  Sul	
  sist.	
  Terra-­‐Libro	
  è	
  stato	
  compiuto	
  lavoro	
  tramite	
  una	
  forza	
  esterna	
  e	
  questo	
  lavoro	
  
è	
  stato	
  immagazzinato	
  in	
  energia	
  potenziale	
  gravitazionale.	
  
2)	
   Cosa	
   accade	
   se	
   il	
   libro	
   cade,	
   considerando	
   solo	
   la	
   forza	
   (interna	
   al	
   sist.)	
  
gravitazionale?	
  

terra	
  

libro	
  

libro	
  

yb	
  
ya	
  

∆s	
  

mg	
  

mg	
  

Il	
   sistema	
   è	
   isolato	
   perché	
   non	
   c’è	
  
una	
   forza	
   es terna .	
   La	
   forza	
  
gravitazionale	
  fa	
  parte	
  del	
  sistema	
  



Conservazione	
  Energia	
  Meccanica	
  
L=-­‐∆Ug	
  

Def:	
  Ug=	
  mg·∙y	
  dipende	
  solo	
  dall’altezza	
  (posizione)	
  	
  
Il	
  lavoro	
  compiuto	
  sul	
  libro	
  dalla	
  forza	
  gravitazionale	
  	
  

=	
  
-­‐∆U	
  
=	
  

-­‐[	
  U(finale)	
  -­‐	
  U(iniziale)	
  ]	
  
Ossia	
  dalla	
  differenza	
  del	
  valore	
  iniziale	
  e	
  finale	
  di	
  una	
  funzione.	
  

	
  
In	
  questo	
  caso	
  la	
  forza	
  è	
  de"a:	
  Forza	
  ConservaNva	
  

E	
  la	
  funzione	
  è	
  chiamata	
  energia	
  potenziale	
  
	
  (in	
  questo	
  caso	
  gravitazionale	
  perché	
  associata	
  alla	
  forza	
  di	
  gravità)	
  

Spesso	
  U(iniziale)	
  preso	
  =	
  0	
  in	
  qualche	
  punto	
  di	
  riferimento.	
  Questo	
  non	
  ha	
  importanza	
  perché	
  
ha	
  significato	
  la	
  variazione	
  di	
  energia	
  potenziale	
  e	
  quindi	
  la	
  scelta	
  di	
  U(iniziale)	
  è	
  solo	
  una	
  	
  
traslazione	
  di	
  U(finale)	
  di	
  una	
  costante	
  che	
  nell’operazione	
  di	
  ∆	
  scompare.	
  

Costante	
  presa	
  =0	
  
In	
  modo	
  arbitrario	
  i.e	
  
Per	
  convenienze	
  nei	
  vari	
  sistemi	
  



Conservazione	
  Energia	
  Meccanica	
  

L12	
  =	
  ∆K	
  =	
  K2	
  -­‐	
  K1	
  
L12	
  =	
  -­‐[	
  U(2)	
  –	
  U(1)	
  ]	
  =	
  -­‐∆U=Uiniziale-­‐Ufinale	
  

∆ K = −∆U
∆ K +∆U = 0

1,A-­‐>iniziale	
  
2,B-­‐>finale	
  

Equazione	
  
con1nuità:	
  

Somma	
  variazioni	
  
energia	
  

immagazzinate	
  nel	
  
sistema	
  	
  

somma	
  trasferimen1	
  energia	
  
fuori	
  sistema.	
  Nel	
  nostro	
  caso	
  
il	
  sistem	
  è	
  isolato	
  e	
  quindi	
  0	
  

Nota:	
   se	
   nel	
   sistema	
   sono	
  presen1	
   solo	
   forze	
   conserva1ve	
   allora	
   la	
   variazione	
   di	
  
energia	
  cine1ca	
  ha	
  sempre	
  segno	
  opposto	
  a	
  quella	
  dell’energia	
  potenziale.	
  E.x.	
  nel	
  
sistema	
   Terra-­‐Libro,	
   il	
   libro	
   cade	
   quindi	
   l’energia	
   potenziale	
   diminuisce	
   mentre	
  
l’energia	
  cine1ca	
  aumenta	
  (il	
  libro	
  accelera	
  e	
  quindi	
  la	
  sua	
  velocità	
  aumenta)	
  



Conservazione	
  Energia	
  Meccanica	
  

L12	
  =	
  ∆K	
  =	
  K2	
  -­‐	
  K1	
  
L12	
  =	
  -­‐[	
  U(2)	
  –	
  U(1)	
  ]	
  =	
  -­‐∆U=Uiniziale-­‐Ufinale	
  

∆ K +∆U = 0

1,A-­‐>iniziale	
  
2,B-­‐>finale	
  

Equazione	
  
con1nuità:	
  

K2 −K1 =U1 −U2

⇒U1 +K1 =U2 +K2

⇒ Emeccanica
iniziale = E

meccanica
finale

⇒ Etot =U +K = costanteDef:	
  Emeccanica	
  =	
  K+U	
  

Conservazione	
  energia	
  meccanica	
  
per	
  un	
  sistema	
  isolato	
  

(Terra-­‐Libro)	
  



	
  Forze	
  dissipa1ve	
  
Una	
  forza	
  è	
  deda	
  dissipa#va	
  se	
  il	
  lavoro	
  della	
  forza	
  lunga	
  una	
  
traiedoria	
  chiusa	
  è	
  ≠	
  0;	
  quindi	
  non	
  sono	
  forze	
  conserva#ve	
  

	
  
Sono	
   forze	
   che	
   modificano	
   l’energia	
   interna	
   di	
   un	
   sistema	
  
trasformando	
  (dissipando)	
  l’energia	
  meccanica	
  in	
  altre	
  forme	
  	
  

e.x.	
  Calore,	
  deformazione	
  	
  
	
  

La	
  forza	
  di	
  aDrito	
  è	
  una	
  forza	
  dissipaNva:	
  

Da	
  P1	
  a	
  P2:	
  L=f·∙s	
  =	
  -­‐f·∙s	
  
Da	
  P2	
  a	
  P1:	
  L=f·∙s	
  =-­‐f·∙s	
  
Ltot=-­‐2fs≠0	
  

F	
  

x	
  

→

P1	
   P2	
  

F	
  

x	
  

→

P1	
   P2	
  

f=µN	
  

Quindi	
  il	
  lavoro	
  totale	
  della	
  forza	
  di	
  aDrito	
  In	
  un	
  percorso	
  chiuso	
  =	
  -­‐2µmgs	
  
Quindi	
  la	
  forza	
  d’aDrito	
  non	
  è	
  conservaNva.	
  

s	
  



A"rito	
  ßà	
  Energia	
  cine1ca	
  
Sistema:	
  blocco	
  con	
  velocità	
  iniziale	
  Vi	
  rallenta	
  solo	
  a	
  causa	
  dell’a"rito	
  
tra	
  il	
  blocco	
  e	
  il	
  piano.	
  

L’aumento	
  dell’energia	
  interna	
  del	
  sistema	
  è	
  uguale	
  al	
  prodo"o	
  della	
  forza	
  di	
  a"rito	
  
per	
  lo	
  spostamento.	
  L’aumentare	
  dell’energia	
  interna	
  del	
  sistema	
  diminuisce	
  l’energia	
  

cine1ca	
  

m	
   fd	
  s	
  

S:	
  spostamento	
  
fd:	
  forza	
  a"rito	
  dinamico	
  

− fds =
1
2
mVf

2 −
1
2
mVi

2 = ΔK
Se	
   il	
   sistema	
   è	
   isolato	
   e	
   cioè	
   non	
   interagisce	
   con	
   l’ambiente	
  
sappiamo	
  che	
  :	
  
	
   ΔK +ΔEint = 0
Quindi	
  
	
   ΔEint = fds



Conservazione	
  Energia	
  in	
  presenza	
  di	
  forze	
  non	
  conserva1ve	
  
in	
  un	
  sistema	
  isolato	
  

	
  U1+K1+Lnc=U2+K2	
  

L’energia	
  totale	
  di	
  un	
  sistema	
  in	
  un	
  punto	
  2	
  (finale)	
  
	
  e	
  cioè	
  l’energia	
  cine1ca	
  in	
  quel	
  punto	
  sommata	
  a	
  tu"e	
  le	
  forme	
  di	
  	
  
energia	
  potenziale	
  che	
  il	
  sistema	
  possa	
  possedere	
  in	
  quel	
  punto	
  

	
   	
   	
   	
   	
   	
   	
   	
   	
   	
  =	
  
all’energia	
  totale	
  del	
  sistema	
  nella	
  posizione	
  precedente	
  1	
  	
  
sommata	
  al	
  lavoro	
  di	
  tuDe	
  le	
  forze	
  non	
  conservaNve	
  del	
  sistema	
  	
  
mentre	
  questo	
  passa	
  dal	
  punto	
  1	
  al	
  2	
  (iniziale	
  -­‐>finale)	
  

	
  ∆U+∆K+∆Eint=0	
  
La	
  diminuzione	
  dell’energia	
  meccanica	
  (cine1ca	
  +	
  potenziale)	
  è	
  uguale	
  all’aumento	
  di	
  

energia	
  interna	
  nel	
  sistema	
  isolato	
  

Lnc	
  -­‐>	
  ∆Eint	
  



Esempio	
  
Conservazione	
  Energia	
  totale	
  per	
  un	
  sistema	
  isolato	
  

Vi=0	
  

Vf=?	
  

H=0.5m	
  

ß=30°	
  

∆r=1m	
   Si	
  sceglie	
  il	
  sistema:	
  Terra-­‐Cassa-­‐Rampa	
  
perché	
   in	
   questo	
   esempio	
   è	
   un	
   sistema	
  
isolato.	
  
	
  
La	
   sup.	
   del	
   piano	
   inclinato	
   è	
   scabra	
   e	
  
quindi	
  c’e’	
  a"rito	
  tra	
  il	
  cubo	
  e	
  il	
  piano.	
  

m=3kg	
  
fµ=5N	
  Il	
  lavoro	
  compiuto	
  dalla	
  forza	
  di	
  a"rito:	
  -­‐f∆r	
  

∆K=0.5	
  m	
  vf2	
  
∆U=-­‐m	
  g	
  H	
  
∆Eint=f∆r	
  
	
  
⇒ ∆K+∆U=-­‐∆Eint	
  
⇒ 0.5	
  m	
  vf2	
  -­‐m	
  g	
  H	
  =	
  -­‐	
  f∆r	
  

vf = 2mgH − fΔr
m

=
2(3⋅9.8 ⋅0.5)− (5 ⋅1)

3
~ 2.5m / s

x	
  

y	
  



	
  Momento	
  meccanico	
  

M
!"!
= r
!
×F
!"

Mz = rF sin(β)

Def:	
  il	
  momento	
  di	
  una	
  forza	
  rispe"o	
  un	
  determinato	
  asse	
  è	
  il	
  prodo"o	
   	
  	
  
	
  	
  	
  ve"oriale	
  tra	
  il	
  ve"ore	
  posizione	
  del	
  punto	
  dove	
  la	
  forza	
  è	
  applicata	
   	
  	
  	
  
	
  	
  	
  rispe"o	
  all’asse	
  e	
  il	
  ve"ore	
  della	
  forza	
  stessa.	
  	
  

•  Prodo"o	
  ve"oriale	
  ha	
  come	
  risultato	
  un	
  altro	
  ve"ore.	
  M⊥	
  r	
  ⊥F	
  
•  M=0	
  se:	
  	
  r	
  //	
  F	
  ;	
  r	
  =	
  0	
  ;	
  F	
  =	
  0	
  	
  

•  Comporta	
  la	
  rotazione	
  di	
  un	
  corpo	
  rispeDo	
  all’asse	
  

ß	
   F	
  

r	
  

braccio	
  della	
  forza:	
  b	
  =	
  r·∙sin(pi-­‐ß)=r·∙sin(ß)	
  

y	
  

x	
  

M	
  
x	
  

y	
  

z	
  

[M]=[forza]·∙[L]	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  (N·∙m)	
  



	
  Leve	
  

	
   	
   	
   	
   	
   	
  Condizioni	
  di	
  equilibrio:	
  
	
  
asse	
  x:	
  	
  	
  	
  	
  	
  risultante	
  delle	
  forze	
  e	
  dei	
  momen1	
  è	
  assente	
  =	
  0	
  
asse	
  y:	
  	
  	
  	
  	
  	
  N+Fc+Fm	
  =	
  0	
  à	
  N=Fr+Fm	
  	
  ;	
  N	
  //	
  Fc,Fm	
  ma	
  verso	
  opposto	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  MFm+MFc+MN=0	
  .	
  	
  	
  	
  (N	
  :	
  reazione	
  vincolare)	
  
	
  
scegliendo	
  il	
  punto	
  in	
  cui	
  si	
  applica	
  il	
  fulcro	
  come	
  punto	
  di	
  rotazione:	
  
MN=0	
  e	
  quindi	
  per	
  essere	
  in	
  equilibrio	
  	
  MFm=	
  MFc	
  
	
  

y	
  

Fm	
  Fc	
  

x	
  

Lm	
  Lc	
  

Fm ⋅Lm = Fc ⋅Lc

Fm=forza	
  motrice	
  
Fc=forza	
  di	
  carico	
  (peso)	
  	
  

nota :Fm = Fc ⋅ Lc
Lm

def :G =
Fc
Fm

=
Lm
Lc

>	
  	
  amplificazione	
  
<	
  	
  smorzamento	
  

N	
  

Guadagno	
  meccanico	
  della	
  leva	
  
G	
  >	
  1	
  =>	
  Fm	
  <	
  Fc	
  	
  conviene	
  
G	
  <	
  1	
  =>	
  Fm	
  >	
  Fc	
  	
  non-­‐conviene	
  	
  



	
  Tipi	
  di	
  Leve	
   Fm=forza	
  motrice	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  à	
  M	
  
Fc=forza	
  di	
  carico	
  (peso)	
  à	
  W	
  
Lm	
  à	
  dM	
  	
  	
  	
  	
  	
  ;	
  	
  	
  	
  	
  	
  	
  	
  Lc-­‐>dW	
  

2.2 Statics: Motion in One Plane and Levers 41

Fig. 2.4. Three types of levers, (a) first, (b) second, and (c) third class levers. The
large increase in the distance the weight moves over the change in muscle length in
the third class lever is also seen in part (c)

clearly no forces in the x direction so the first equation in (2.8) is automati-
cally satisfied. Since the weight and muscle both act in the same direction –
downward – force balance in the y direction requires that the fulcrum provides
an upward force of W + M . Balancing torques in the z direction requires a
choice of a z-axis. Any axis normal to the xy plane can be chosen. The sim-
plest one is an axis at the fulcrum. The weight provides a torque of WdW,
while the muscle provides a torque of −MdM. The signs are consistent with
the above discussion. The fulcrum provides no torque about this axis because
the distance from the fulcrum to the axis is zero. So

∑
τz = WdW − MdM = 0. (2.11)

This leads to (2.9), which tells how large the muscle force must be to maintain
equilibrium. If the muscle cannot provide this large of a force, there can be no
static condition. (Example: The lead ball is too heavy to hold up.) If the muscle
provides more than this force, there is motion. (Example: The baseball is being
thrown, as we will see later.) In these two cases,

∑
τz in (2.11) is not zero.
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while the muscle provides a torque of −MdM. The signs are consistent with
the above discussion. The fulcrum provides no torque about this axis because
the distance from the fulcrum to the axis is zero. So

∑
τz = WdW − MdM = 0. (2.11)

This leads to (2.9), which tells how large the muscle force must be to maintain
equilibrium. If the muscle cannot provide this large of a force, there can be no
static condition. (Example: The lead ball is too heavy to hold up.) If the muscle
provides more than this force, there is motion. (Example: The baseball is being
thrown, as we will see later.) In these two cases,

∑
τz in (2.11) is not zero.

1)  Tipo:	
  
Il	
  fulcro	
  si	
  trova	
  tra	
  
	
  la	
  forza	
  di	
  carico	
  (W)	
  e	
  la	
  forza	
  motrice	
  (M)	
  
G>1	
  o	
  G<1,	
  entrambi	
  I	
  casi	
  sono	
  possibili	
  

2)	
  Tipo:	
  
Il	
  fulcro	
  si	
  trova	
  ad	
  una	
  estremità	
  
	
  la	
  forza	
  di	
  carico	
  è	
  più	
  vicina	
  al	
  fulcro	
  
-­‐>	
  dW<dM	
  	
  	
  
è	
  G>1	
  	
  

3)	
  Tipo:	
  
Il	
  fulcro	
  si	
  trova	
  ad	
  una	
  estremità	
  
	
  la	
  forza	
  motrice	
  è	
  più	
  lontana	
  al	
  fulcro	
  
-­‐>	
  dM<dW	
  	
  	
  
è	
  G<1	
  	
  

Lo	
   studio	
   delle	
   leve	
   perme"e	
   di	
   valutare	
   come	
   un	
   peso	
   (W)	
   e	
   una	
   forza	
   data	
  
tramite	
  un	
  muscolo,	
  agiscono	
  su	
  un	
  corpo	
   solido	
   (osso)	
  posizionato	
   su	
  un	
   fulcro	
  
(giuntura	
  ar1colare,	
  ar1colazione)	
  	
  

nota :Fm = Fc ⋅ Lc
Lm

def :G =
Fc
Fm

=
Lm
Lc



Fm	
  

Fc	
  

1)  Tipo:	
  
Il	
  fulcro	
  si	
  trova	
  tra	
  
	
  la	
  forza	
  di	
  carico	
  (W)	
  e	
  la	
  forza	
  motrice	
  (M)	
  
G>1	
  o	
  G<1,	
  entrambi	
  I	
  casi	
  sono	
  possibili	
  

2)	
  Tipo:	
  
Il	
  fulcro	
  si	
  trova	
  ad	
  una	
  estremità	
  
	
  la	
  forza	
  di	
  carico	
  è	
  più	
  vicina	
  al	
  fulcro	
  
-­‐>	
  dW<dM	
  	
  	
  
è	
  G>1	
  	
  Sempre	
  vantaggiosa	
  

3)	
  Tipo:	
  
Il	
  fulcro	
  si	
  trova	
  ad	
  una	
  estremità	
  
	
  la	
  forza	
  motrice	
  è	
  più	
  lontana	
  al	
  fulcro	
  
-­‐>	
  dM<dW	
  	
  	
  
è	
  G<1	
  .	
  Sempre	
  svantaggiosa	
  

	
  Tipi	
  di	
  Leve	
  



1°	
  Npo	
  svantaggioso	
  infal	
  
distanza	
  Fulcro-­‐Motrice	
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<	
  
Distanza	
  fulcro-­‐carico	
  (FR)	
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distanza	
  Fulcro-­‐Motrice	
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<	
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  (FR)	
  

2°	
  Npo	
  vantaggioso	
  infal	
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  (FP)	
  

>	
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  fulcro-­‐carico	
  (FR)	
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42 2 Statics of the Body

Fig. 2.5. Displacing the axis for calculating torques to the right of the weight by a
distance x, as shown for a first class lever. For the axis chosen at the fulcrum x = dW.
The axis can be laterally displaced anywhere, to the left or right (as shown) of the
lever, above or below it, or in it

It may seem that we cheated by choosing the axis at the fulcrum. Actually,
we could have chosen the axis anyway in the xy plane. To prove this let us
choose the axis anywhere along the bone, say a distance x to the right of the
weight (Fig. 2.5). The torques provided by the weight, fulcrum, and muscle
are now Wx, (W +M)(dW −x), and −M(dW +dM−x), respectively. Balance
requires

∑
τz = Wx + (W + M)(dW − x) − M(dW + dM − x) = 0, (2.12)

which reduces to (2.11) again.
One type of the first class lever is a seesaw or teeter totter. A second type

is the head atop the spinal cord, where the weight of the head is balanced by
the downward effective force of the muscles (Fig. 2.6a). In a third example, the

Fig. 2.6. Examples of first (a,b), second (c), and third (d) class levers in the body

Una	
  forza	
  spinge	
  l’avambraccio	
  verso	
  l’alto	
  	
  
	
  il	
  tricipide	
  può	
  contrastare	
  questa	
  forza	
  

y	
  Fc	
  Fm	
  

x	
  

Lc	
  Lm	
  

nota : Fm
Fc

=
Lc
Lm

>1 quindi Fm deve essere molto piu grande di Fc per contrastarla

def :G =
Lm
Lc

<  sconveniente
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  1°	
  classe	
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  Esempio:	
  come	
  misurare	
  coeff.	
  a"rito	
  sta1co	
  e	
  dinamico	
  

x: Fx∑ =mgsen(β)− fs = 0

y : Fy∑ = N −mgcos(β) = 0

mgsen(βc ) = µsN
mgcos(βc ) = N
⇒ Tg(βc ) = µs

Analisi	
   delle	
   forze	
   lungo	
   gli	
   assi	
   di	
  
riferimento	
  x,y.	
  
Sappiamo	
   che	
   il	
   corpo	
   è	
   fermo	
   e	
   resta	
  
fermo	
   fino	
   a	
   quando	
   	
   la	
   forza	
   di	
   a"rito	
  
sta1co	
   viene	
   superata	
   dalla	
   forza	
   peso	
  
(lungo	
  l’asse	
  opportuno)	
  

Quando	
  il	
  blocco	
  è	
  sul	
  punto	
  di	
  scivolare	
  fs=µsN	
  e	
  quindi	
  si	
  è	
  raggiunto	
  l’angolo	
  cri1co	
  µc	
  

Il	
  blocco	
  comincia	
  a	
  scivolare	
  e	
  quindi	
  µs	
  -­‐>	
  µd.	
  Essendo	
  µd<µs	
  il	
  blocco	
  accelera.	
  
Se	
   vario	
   l’angolo	
   ßc	
   di	
   modo	
   da	
   contrastare	
   la	
   forza	
   peso	
   con	
   la	
   forza	
   d’a"rito	
  
dinamico	
  il	
  blocco	
  cadrà	
  a	
  velocità	
  costante.	
  Quindi	
  Tg(ßcd)=µd	
  

Il	
  coeff	
  di	
  a"rito	
  sta1co	
  =	
  tangente	
  dell’angolo	
  
Per	
  il	
  quale	
  il	
  blocco	
  comincia	
  a	
  scivolare	
  

Fp	
  

N

f	
  

ß	
  


